www.talamidi.com (5335 a8 50 (e alall 138 Jresl o

PUISSANCES ENTIERES D'UN NOMBRE RELATIF EXERCICE 2
EXERCICE 1 - Calculer :
a. (-4)° = (-4) x (-4) x (-4) = -64
b' 54 = =
C. ('6)3 = =
d. 2° = =
é. ('10)3 = =
£ 28 — =
g (-3)* = =
h (0,1)* = =
i (-5)° = =
J (-100)° = =
EXERCICE 2 - Calculer :
1 1
-3 - =
a. 47 = 4x4%x4 ~ 64
b' (_2)—5 = =
C. 3-4 = =
d. (-10)* = =
e ('012)5 = =

EXERCICE 3 - Donner le résultat des calculs suivants sous la forme « a" » :

a. 5°x5'=5° b. 4735 48 = le. (-6)7 x (-6)% = d.(-3) x (-3)* =
e 53x51x58= £7Px78x73 = |g (-8)°x(-8)>x(-8) != h. 9°x91x97x9™=
57 g C 7 (-6)° _ (-5° _
A 5—3 =5 A 7—3 K. (_6)_1 - L (_5)—16
0" _ 237 (-3 _ 273
m. (_1)78 - n. F = 10. (_3)6 = p- 2_3 —
g (37) =314 r((-5)7) - . ((-2)") " = e (127) -
w (8°) - v f9)7)” - wicog ) - pefef-






